Part V

ORIGINAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 October 2008 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 5039	API No. 15 - 007-23404-00-00
Name: A G V Corp.	Spot Description:
Address 1: P. O. Box 377	SW NE_SENE Sec. 25 Twp. 33 S. R. 10 East West
Address 2: 123 N Main	1925 Feet from North / South Line of Section
City: Attica State: Ks Zip: 67009	385 Feet from 🔀 East / 🗌 West Line of Section
Contact Person: Larry G. Mans	Footages Calculated from Nearest Outside Section Corner:
Phone: (620)254-7222	MINE DAIM DE DEW
CONTRACTOR: License # 34233	County: Barber
Name: Maverick Drilling LLC	Lease Name: Green-Baker Well #: 1
Wellsite Geologist: Kent Roberts	Field Name: Cedar
Purchaser: West Wichita Gas	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1343 Kelly Bushing: 1352
New Well Re-Entry Workover	Total Depth: 4979 Plug Back Total Depth: 4940
Y OII SWD SIOW	Amount of Surface Pipe Set and Cemented at: 229 Feet
Y Gas / SIGW	
CM (Coal Bed Methane) Temp. Abd.	Multiple Stage Cementing Collar Used? ☐ Yes ☒No
Dry Other	If yes, show depth set:Feet
(Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/Alt l-Dig- (126)
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content:ppm Fluid volume: bbis
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used:
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Docket No.:	Operator Name:
Dual Completion Docket No.:	Coperator Name: License No.:
Other (SWD or Enhr.?) Docket No.:	QuarterSecTwpS. R East West
8-31-2009 9-19-2009 1-4÷20±0	
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workover or or of side two of this form will be held confidential for a period of 12 months if rectality in excess of 12 months). One copy of all wireline logs and geologist we BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	
are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature: Samy & Man	KCC Office Use ONLY
Title: Secretary Date: /-/8-20/0	N
Subscribed and sworn to before me this day of	Letter of Confidentiality Received
• .	If Denied, Yes Date:
20 10.	Wireline Log Received RECEIVED
Notary Public: KAYAN HOWELL	UIC Distribution JAN 2 0 20 0
Notary Public - State of Kansas	KCC WICHITA
My Appt. Expires April 24, 2011	NOC WICHIA

Operator Name: A	G V Corp.		Lease I	Name: _	Green-Ba	ker	Well #:1		
Sec. 25 Twp. 33	3_s. R. 10	☐ East 👿 West	County	:1	Barber_				
time tool open and clos	sed, flowing and shu s if gas to surface te	d base of formations pen t-in pressures, whether si st, along with final chart(s eport.	hut-in pres	sure read	ched static level,	hydrostatic p	ressures, bottom h	nole temperature,	fluid
Drill Stem Tests Taken (Attach Additional St	heets)	⊠ Yes		⊠.L	og Formation	ո (Top), Dept	h and Datum	Sample	
Samples Sent to Geolo	ogical Survey	☐ Yes 🔯 No		Nam	e oner Sha	le	Тор 3504	Datum - 2152	
Cores Taken Electric Log Run (Submit Copy)		Yes No		Lansing 4054 -2 Pawnee 4386 -3 Cherokee Shale 4428 -3					
N	Dual Compe Microresis	nsated Poros	_	Kind Vio	sissippi derhook la pson San		4516 4778 4860 4950 4991	-3164 -3426 -3508 -3598 -3639	
			RECORD	⊠ N∈		**	4991	-3633	
, Purpose of String	Size Hole Drilled	Report all strings set-of Size Casing Set (In O.D.)	conductor, su Weig Lbs.	ght	ermediate, producti Setting Depth	on, etc. Type of Cement		Type and Perco	ent
Surface	12 1/4	8 5/8	23		229	60/40	Poz 190	2%CC	
Production	n 8 5/8	4 1/2	10.	5	4982	AA-2	200	1% Salt	-
		ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORD				
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks	Used		Туре	and Percent Additives		
Protect Casing Plug Back TD Plug Off Zone				:		·	:		
				· · · · · · · · · · · · · · · · · · ·		······································		· .	
Shots Per Foot		ON RECORD - Bridge Plug Footage of Each Interval Per					ment Squeeze Recor of Material Used)	d Dep	oth
4	4532-4535	·····			500G 1	5% MCA	.:		
								RECEIVED	
						······································		AN 2 0 201	0
TUBING RECORD:	Size: 2 3/8	Set At: 4507	Packer A	At:	Liner Run:	Yes [KC KC	C WICHIT	ΓΑ
Date of First, Resumed F		hr. Producing Met		Flowin	g Pumpir	ng 🔲 G	as Lift	er (Explain)	
Estimated Production Per 24 Hours	<u> </u>	Bbls. Gas 250	Mcf	Wat	er B	bls.	Gas-Oil Ratio	- Gravil	ty
nunner:	OL OF CAC		45TUCO CC		FTION		POODUCT	ON INTERVAL	
DISPOSITIO	ON OF GAS:	} _	METHOD OF → Perf.	_		nmingled	PRODUCTI	ON INTERVAL:	
(If vented, Sub	_	Other (Specify)	ا ۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰۰						



PAGE	CUST NO	INVOICE DATE
1 of 1	1000159	09/01/2009

INVOICE NUMBER 1718 - 90116737

Pratt

(620) 672-1201

B ATTICA GAS VENTURES

I PO Box: 377

_ ATTICA

67009 KS US

o ATTN:

LEASE NAME

Green Baker

LOCATION

COUNTY

T

Barber

11352

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERI	MS	DUE 1	DATE
40085156	20920				Net - 3	0 days	10/01,	/2009
D. A.			QTY	U of M	UNIT P	RICE	INVOICE	AMOUNT
or Service Dates:	08/31/2009 to 08	3/31/2009				:	,	
040085156								
	A New Addition of the Alberta	00/01/2000						
171800344A Ceme	nt-New Well Casing/Pi	06/31/2009					1	
Cement			190.00	EA		4.80		912.00
60/40 POZ		•				4.40		74.04
Additives			48.00	EA		1.48	1	71.04
Cello-flake Calcium Chloride		`	492.00	EA		0.42		206.64
Additives		•	100.00			0.80		80.00
Sugar								
Cement Float Equipm	nent		1.00	EA		64.00		64.0
Wooden Cement Plu	g, 8 5/8"					0.00		252
Mileage		•	90.00	MI		2.80	1	252.
Heavy Equipment Mi Mileage	lleage		369.00	МІ		0.64		236.
Proppant and Bulk D	elivery Charge							
Mileage			190.00	MI		0.56	5	106.
Blending & Mixing So	ervice Charge							70
Pickup	51.1 M B Co		45.00	HR		1.70	1	76.
Pump Charge-Hourly	-Pickups, Vans & Cars ,		1.00	HR		400.00	,	400.
Depth Charge; 0-500			,,,,	****				
Cementing Head w/N			1.00	EA		100.00	,	100.
Plug Container Utiliza	ation Charge						}	70
Supervisor			1.00	HR		70.00	1	70.
Service Suprvisor		ECEIVED						
	. u	ECEIVED JAN 20 2010						
		JAN 20 -						
		CC WICHITA			l	050 -		
_	*	CC Min		F	AIC	SEP 3	Y 2009	
•								
	•							
PLEASE REMIT	ro: SI	END OTHER CORRES	PONDENCE T	0:			1	

BASIC ENERGY SERVICES, LP
PO BOX 841903 PO BOX 10460
DALLAS, TX 75284-1903 MIDLAND, TX 79702

SUB TOTAL TAX 2,574.74 79.99

2,654.73 INVOICE TOTAL



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET 1718 0344 A

						77.00	1		ニエナ ギヤス	40
				MA	TERIALS	A.	%TAX	ON \$	AL	
CHE	MICAL / ACID DAT	TA:		SE	RVICE & EQUIF	PMENT	%TAX	SUB TOTA	AL	
		,				KC	C WICH	,		 -
						_ J	AN 2:0 20	10		-
						1				1
	· · · · · · · · · · · · · · · · · · ·		······································	 		1	ECEIVED			-
	*	· · · · · · · · · · · · · · · · · · ·							-	
E 504	Dlu C	and the	1.1		· · · · · · · · · · · · · · · · · · ·	3/			250	
5003	1824 186 1 500 000 0	Safarina an	<u> </u>			127			1,000	20
2 700	De role	the state of the	20			1 1900	170	,	266	
1010 5 741	Part Gr	eder /				SK	170		191	2
2 // 3	13 11/10	11.				7/1	349		590	4
9 / 1/	Herry	Carl Makey				237	20 1		630	00
°C 137	Sugar					16	100		200	6.
"F 153	Boute	5 6 4 pla	1 Jr 7	/		911			160	00
0100	Coleman	chlade .				16	492		516	1/20
100	Coll Sell					16	34/3-		122	60
REF. NO.		ATERIAL, EQUIPMENT	AND SERV	ICES US		UNIT	QUANTITY	UNIT PRICE	\$ AMOU	
EM/PRICE					in on	1	т	R, OPERATOR, CO		
products, and/or sur	polies includes all d	xecute this contract as an a of and only those terms and the written consent of an of	conditions app	pearing or	the front and bac	k of this do	cument. No additi	onal or substitute ter	rms and/or condition	ns sh
		RACT CONDITIONS: (This								
·				· · · · · · · · · · · · · · · · · · ·			MILES FROM	STATION TO W		-/}
			+		· · · · · · · · · · · · · · · · · · ·	-	RELEASED	C-31-0	A84	45
/			++				FINISH OPER	RATION	AM PM /	<u> </u>
490 1/1500	5 2 -	<u>,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</u>					START OPER	RATION (PM //	<u>. 31.</u>
25,7/2,02	0 20						ARRIVED AT		AM	<u>1915.</u> - 19
EQUIPMENT		EQUIPMENT#	HRS	EQI	JIPMENT#	HRS	TRUCK CALL			IME
AUTHORIZED B	Υ				JOB TYPE:	سده لمسلوس	1 1 10	, 	7	
CITY		STATE ,			SERVICE CF	REW -	1	The state of the s	/	
ADDRESS	<u> </u>		······································	· · · · · · · · · · · · · · · · · · ·	COUNTY /			STATE		
CUSTOMER .	1 0 11				LEASE		Pale		/ WELL NO.	
			.*		Į VVELL	44 ETT			- ORDER NO.:	
DATE OF JOB	3/-//7 D	ISTRICT / 🚈			NEW D		PROD []INJ	☐ WDW [CUSTOMER ORDER NO.:	

ORDERED BY CUSTOMER AND RECEIVED BY:

FIELD SERVICE ORDER NO.

REPRESENTATIVE /

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

Sharon/TR. City RD S To Kochin RD 21/2 E 1/2 N



TREATMENT REPORT

Customer/	G 1/		RP		Le	ease No	•	<i>t</i> ,				Date	•		· · · · · · · · · · · · · · · · · · ·		
Lease Cize	7. 0. ev 139	11.	,)		w	/ell #	1					- - -	28	2/	-02		
Field Order #	Station	PR	N -	-	<u> 1</u>			Casing	5/ D	Depth	29 °	Count	SARA	cR		State	
Type Job		7/5							Forma					Legal De	scription	10	
	E DATA		PERF	ORAT	ING	DATA		FLUID I	JSED		,		TREAT	MENT F	RESUME		
Casing Size	Tubing Siz	ze :	Shots/F	t			Ac	id	,			RATE	PRES	s [ISIP		
Depth 229	Depth		From		То	•	Pre	e Pad			Max				5 Min.	· 	
Volume 3	Volume		From		То		Pa	d			Min				10 Min.		
Max Press	Max Pres	s	From		То		Fra	ac			Avg				15 Min.		
Well Connection	Annulus V	⁄ol.	From		То						HHP Use	d			Annulus f	ressure?	
Plug Depth	Packer De	epth	From		То			ısh ·			Gas Volu				Total Loa	t	
Customer Rep	resentative	-				Statio	n Mar	nager DA	JE SC	071	-	Trea	ater 200	od d	<u> [u//h]</u>	<u>ښ</u>	
Service Units	18867	199	555	2052	ر	1996		19918									
Driver Names	Sullivani		Roc	9h			P40	10									
Time	Casing Pressure		bing ssure	Bbls	. Pum	ped		Rate					Service	Log			
	·								0,)	6	2 5	0.PHg	me	ety.			
	-										X				·	 	
									1			1 1					
									Ru	لرر	8%	2	? ~	2.3			
1-											- · · · · · · · · · · · · · · · · · · ·		//				
1855									C7/5	71119	7 ON	,	. 40				
19.10		. :			سسر			11	100	08	11/20		<u>Cir</u>	<u> </u>		<u></u>	
1915	150				<u>5</u>	,		4.5	120	· * * * * * * * * * * * * * * * * * * *	<i>H</i>	5/10	016	64	<u> </u>	u/ 3 <i>e/</i>	
				4				7.)	540		1) 5 K	1	Plug	% ger 3% €	
1931					13			3.5	St		a .	<u>~</u>	rec	0950	riug		_
1936					3			<u>. , , ,</u>	0/		de so)					
									0 100	g . t	<u>(Lau)</u> (25)	13 /	150c c		P.F		_
										<u>id . 4.</u>					/ 		
									150	5 6	Em	2/2	/				
										-	, -	,					
											Tho	ok 1)		Dear		
											-	1				IVED	
			,				,								JAN 2	0 2010	
									,						(CC W	ICHITA -	
								<u>.</u>									
	ŧ											2) 2			(000)	C70 E202	J



PAGE	CUST NO	INVOICE DATE
1 of 2	1000159	09/22/2009
	INVOICE NUMB	ER

1718 - 90131223

(620) 672-1201

B ATTICA GAS VENTURES

I PO Box: 377

_ ATTICA

KS US 67009

o ATTN:

LEASE NAME LOCATION

Green-Baker

11352

COUNTY

Barber KS

STATE

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE		
40093955	19905				Net - 30 days	10/22/2009		
	<u> </u>		QTY	U of	UNIT PRICE	INVOICE AMOUNT		
For Service Dates	: 09/20/2009 to 0	9/20/2009						
0040093955	·							
171800647A Cem	ent-New Well Casing/Pi	09/20/2009				·		
Cement		·	200.00	EA	7.65	1,530.01		
AA2 Cement		·	00.00		5.40	432.00		
Cement			80.00	EA	5.40	432.00		
60/40 POZ			47.00	EA	1.80	84.60 ⁻		
Additives			47.00	EA.	1.00	04.00		
De-foamer(Powder) Additives	•		939.00	£Α	0.22	211.27		
Salt(Fine)			939.00		0.22	211.27		
Additives			188.00	EA	2.32	435.69		
Gas-Blok			100.00			100.00		
Additives		,	151.00	EA	3.37	509.62		
FLA-322	•							
Additives	4		1,000.00	EA	0.30	301.50 ·		
Gilsonite	:		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			*		
Additives			4.00	EA	15.75	63.00		
CS-1L, KCL Substit	ute	,	_					
Additives			500.00	EA	0.69	344.25		
Super Flush II								
Cement Float Equip	ment		1.00	EA	166.50	166.5		
Latch Down Plug &	Baffle, 4 1/2" (Blue)		·					
Cement Float Equip	ment		1.00	EA	148.50	148.5		
Auto Fill Float Shoe	4 1/2" (Blue)							
Cement Float Equip	ment		6.00	EA	38.25	. 229.5		
Turbolizer, 4 1/2"(E	Blue)							
Cement Float Equip	ment	_	2.00	EA	121.50	243.0		
4 1/2" Basket(Blue)		ECEIVED			_			
Mileage	K	EULIV	90.00	MI	3.15	283.50		
Heavy Equipment M Mileage	fileage	AN 20 SUIU	578.00	·MI	0.72	416.10		
Proppant and Bulk (Delivery Charge	" ATILIA!	- 1 - 1 - 2					
Mileage	K	AN 20 2010 CC WICHITA	280.00	МІ	0.63	176.40		
	,,	•						



CUST NO INVOICE DATE PAGE 09/22/2009 2 of 2 1000159

INVOICE NUMBER

1718 - 90131223

Pratt

(620) 672-1201

B ATTICA GAS VENTURES

I PO Box: 377

L ATTICA

KS US. 67009

o ATTN:

LEASE NAME

Green-Baker

LOCATION

COUNTY

Barber

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.	,	TERMS		DUE D	ATE
40093955	19905				Net - 30 d	ays	10/22/	2009
	1		QTY	U of M	UNIT PRIC	E	INVOICE	AMOUNT
Rending & Mixing	Service Charge							
Pickup			45.00	HR		1.91		86.0
	je-Pickups, Vans & Cars		1.00	un		24.00		1 124 /
Pump Charge-Hou Depth Charge; 400			1.00	HR	/ 1,11	34.00		1,134.0
Cementing Head w			1.00	EA	1	12.50		112.9
Plug Container Util							•	
extra Equipment			1.00	EA	!	90.00		90.0
Casing Swivel Ren Supervisor	tal	·	1.00	HR		78.75		78.
supervisor Service Supervisor		•	1.00			75.79		70
	•	•		•				
						1		
					*			
	•							
	•							
			,					
					·			
		•			RE	CEIYI	ED	
					141	V 2	2010	
					1			
					VCC	wih	ATIH	
					, noc	. AAIC	41 II 1, ,	
	·							
					l			

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP
PO BOX 841903 PO BOX 10460
DALLAS, TX 75284-1903 MIDLAND, TX 79702

SUB TOTAL

TAX

7,076.81

INVOICE TOTAL

246.45 7,323.26

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

0647 A 1718

PF	RESSURE PUMP	ING & WIRELINE 2	5-3	35-	OW		DATE	TICKET NO			
DATE OF O	20-09º	ISTRICT Pratt.	ransa	1 5	NEW O	VELL□ F	PROD INJ	□ WDW	□ Si	JSTOMER RDER NO.:	
CUSTOMER A	GVC	orporation	ħ.		LEASE GY	een-	Balre	ſ		WELL NO.	1
ADDRESS					COUNTY	arb	e Y	STATE	Tar	1595	
CITY		STATE	:		SERVICE CREWC. Messich: C. Rousch: D. Phye						
AUTHORIZED BY					JOB TYPE: (C.N.		nastrina			
EQUIPMENT#	HRS	EQUIPMENT#	HRS	EQU	IPMENT#	HRS	TRUCK CALI	LED 9-1	PATE 9.CC	AM 9TIN	ЛЕ 3 <i>0</i>
19,866	- 4 -		+ - +				ARRIVED AT		10.09		<u>30</u>
19.903-19.90	5 1		1				START OPE	RATION		STO STO	20
11,100 11,10							FINISH OPE	RATION	<u>) </u>	AM 90	$\dot{\omega}$
19.960-19.91				RELEASED	9-2	0.0	PAM 9	30			
- 11 10 - 11 11			-	MILES FROM	STATION TO	WELL					
ITEM/PRICE	. \$A	ATERIAL FOLLOMENT	AND SED	VICESTIS		UNIT	(WELL OWNE	ER, OPERATOR, O			-
REF. NO.	A A	ATERIAL, EQUIPMENT	AND SER	VICES USI	ED	UNIT		UNIT PRICE	=	\$ AMOUN	1
CP 105		ement				ļ	200sh		4	3,400	00
C17103	60/40 P	oz Cement				 	30sh		7	1960	CC
CC 105	Defoan	er					47Lb	·	5	188	00
ccill		ne)					93966		\$	469	5
CC 115 (Sas Blo	h					18816		<u>`</u> \$	968	Do
CC 139	F1.A.3	22	· · · · · · · · · · · · · · · · · · ·	·	,	ļ <u>.</u>	15116		\$	1,132	50
CC 201	Gilsoni	te .					1,000Lb	· · · · · · · · · · · · · · · · · · ·	,₽	670	00
C 704 0	CS-1L	-					4Gal		\$	140	∞
60155		1				<u> </u>	E acci		4	765	
CC 155	Super F	1 450 11-					500Ga		7)	1,00	00
CF606 L	atch Do	wn Plug and Ba	ffle.	4/2"			1 29		4	370	00
CF1250 F	コレチの トロ	ir loat Dhoe.'	4 13			ļ	1 ea		\$,"	330	00
CF 1650 -	Turboliz	er, 41/2"		RECE	VED	ļ	659		\$	510	00
CF 1900 F	Bastret,	412"			n 2010	<u> </u>	dea		\$	540	00
				JAN 4	U	ļ	<u>'</u>				广
CHEN	IICAL / ACID DAT	Ä:		KCC A	U 2010 VICHITA	<u> </u>	<u></u>	SUB TO	TAL		
		,		SEF	VICE & EQUIP	MENT		ON \$			
				MAT	ERIALS		%TAX	ON \$			
								TO	TAL		
	. •								ĺ		

ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

REPRESENTATIVE VALORES R. M. easid



10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET

1718

Continuation

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

TICKET NO ALLT

		d	5-33	5-101	ν		DATE	HCKET NO.					
DATE OF 9	30-09	DISTRICT					PROD INJ	I 🗌 WDW		USTOMER RDER NO.:			
CUSTOMER /	GVO	Corporation			LEASE GY	reer	1-Bat	er		WELL NO.	1		
ADDRESS					COUNTY B	arb	er	STATE	(a	nsas			
CITY		STATE			SERVICE CREW Messich: M. Mattal: C. Rousch								
AUTHORIZED B	BY			-	JOB TYPE: C.N.WLongstring								
EQUIPMEN [*]	T# HR	S EQUIPMENT#	HRS	EQI	JIPMENT#	HRS	TRUCK CAL	,	DAT	E AM TIN	ME		
·							ARRIVED AT	T JOB		AM PM			
							START OPE	RATION		AM PM			
						i	FINISH OPE	RATION		AM PM			
					Κ.,		RELEASED			AM PM			
							MILES FROM	M STATION TO	WELL	, 			
products, and/or subecome a part of the	oplies includes	to execute this contract as an all of and only those terms an nout the written consent of an	nd conditions a	ppearing on	the front and back	of this do	cument. No addi	tional or substitute	terms :	and/or condition	s shall		
ITEM/PRICE REF. NO.	REF. NO. WATERIAL, EGGIPMENT AND SERVICES USED							UNIT PRIC	E	\$ AMOUN	I T		
E 101	Heavy	Equipment Mil	egge				90 mi		\$	630	00		
E 113)elivery			578tm		\$ `	924	20				
E 100	Pickup	Mileage			145 MI		\$	191	25				
						 	· · ·				+		
·.					· · · · · · · · · · · · · · · · · · ·								
CE240	Blendin	yand Mixing Se	rvice				2805/		\$	392	00		
CE 205		Pump: 4,001 Fee	t To 5,0	<u>00Fee</u>	. †		109		\$	2,520	∞		
5003		e Supervisor					100		\$	150	60		
CE 504 CE 501	1	ontainer Swivel	يا د عمدي				1ea		7 4	200	oo oo		
	25000	Julive					7.09		-				
								<u> </u>					
		•			RECEIV	ED_			-		\vdash		
					IAN 2:0	2010	,						
											-		
					KCC WIC	HIII	N						
	<u> </u>					<u> </u>	1	SUB TO	TAT	アクラ/	31		
CHI	CHEMICAL / ACID DATA:								4	7,076	31		
	SERVICE & E							X ON \$					
	MATERIALS						%1A)	X ON \$	TAL				
								10					
		· .					/	· , /		Ω	• 1		
SERVICE THE ABOVE MATERIAL AND SERVICE							a Lac	A Kal	Lu	ter			
HEPHESENIATI	REPRESENTATIVE ORDERED BY CUSTOMER AND RECEIVED BY: ORDERED BY CUSTOMER AND RECEIVED BY: ORDERED BY CUSTOMER AND RECEIVED BY:												

5

)) Ď



JAN 2 0 2010

KCC WICHITA

TREATMENT REPORT

energy ser	vices,	L.P.	KCC	: WICHIT	A			
Cústomer /	poratio	Lease N			Da	ate ($\overline{\bigcap}$	$\overline{7}$
Lease (Treen-Bo	alter	Well #	1			1-2	0-0	
Field Order # Station	ratt, Irai	nsas ·	l Gasing	0.5 Lo.	4,97469	unty Bar	State Han	<u>595</u>
Type Job C. W. W	ongstring	9		Formation		Legal-D	escription 5-10W	
PIPE DATA	PERFORA	TING DATA	Menteround 1	JSED		TREATMENT	RESUME	
Casing Size (Tubing Size	Shots/Ft	200	Sacks AA	- 2 with	2584	E PRESS	BISIFLA-322.	
Pepth 8 2 Feet Depth	From	to 85	a Prop Pord 80	Sas Blot,	MBY L 6.15	H. Gilsonit	e ^{5 Min.}	
Volume Bb Volume	From	то 15.4	Parb. / Gal	., 5.63C	Min./SIT.	1. 36 CU.F	T.19 Mip.	
Max Press P. S Max Press	From	<u>7080€</u>	5 actrs 60	0/40 Po	Avg - 30.	sactis for	Lead Cement	}
Well Connection Annulus Vol.	From	To3050		g Rat Ho	HHP Used	ctstoply		·
Plug Depth Packer Depth	From	То	Flush 78.	1. 12 · 12 · (A.)	Gas Volume		Total Load	
Customer Representative	Roberts	7		11d Sco	tt C	reater rence R	Messich	
Service Units 19,866 10	7,903 19,9		60 19,918					
Names ///essich	Pousch Tubing		Phlye	<u> </u>		<u></u> L		
Time / // Pressure P	ressure Bbl	s. Pumped	Rate		. , .	Service Log		
1:30			and Float					·
2:15			n location			y Meeting.	, , , , , ,	
3:00 Mayeric		7	torun Auto			Shoe Join	. 11	
1~	i.		randatota				Ft 4/2 Casing	
7.15 Mananas	itel a pove	Collars	#1 and #11 Casing inv			on Collars#1	., 5,9,10,11 and	FLD.
8:08 400			6	Start		Vater Pre-1		
0.00		70			Super		10571.	
		32	. 5				·	
8:18 450	-	35	5	Start	MIXING	30 sactes 6	0/40 Poz. AA-2 семе	,
		44	5	Start	MIXING	200 sachts	AA-2 ceme	$\frac{-}{nt}$
	C	12		Stope	oumpina.	Shut in well	. Wash Dump	and
	·			lines.	Releasel	atch Down	. Wash punp Plug. Open We	<u> </u>
8:33 260	<u> </u>		6.5	Start	28 ITCL	- Displace	nent.	·
		50	5	Start	tolift	cement.		
8:46 600	7	8.4		Pluad	own.			
1,500				16850	leup,			
	,			Releas	se press	ure. Latch D	Down Plugheld	
		-4	3	Plug Ra	at and M	ouse holes.		
		· ·		Washu	p pump	truck.		
9:15				Jobe	omplete	<u>,</u>		
10044 NE U	- C1 - D.O. I	0010	- D M. 1/O. C	Thank		72 1201 • Fox	(000) 070 500	